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® 100.48cm? @ 105.76cm? ® 116.28cm?
@125.6cm3 ® 150.76cm?

o] Zol)=12.56 + 3.14 + 2 = 2(cm)
159 F1])=2x2x3.14 X 10 = 125.6(cm?)
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@D 3x3x3.14x9 = 254.34(cm?)
@ 4x4x3.14x5 =251.2(cm?)
® Tx7xT=2343(cm?)

@ 3 2429 Aol [ Jem 2t 5HH

[ Ix[ ]x6=216,] |x] ]=36,[ ]=6

e Bols 6 x 6 x 6 = 216( cm?) YU},

® ¥ o] Htz]50] 15.7 + 3.14 + 2 = 2.5(cm)

o|B g Huj:925x25x3.14 %6 = 117.75( cm?) YUt}
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(& 299 yol)= (WHx]F)x (F¥FA5)x3.14
(dHol)= (A5)x3.14x (&°l)

(B¥lol)= (& B Hol)x2+ (F4Hol)

(3t ¥ o] Hol)= 10 x 10 x 3.14 = 314( cm?)
(Fy¥lo])= 20 x 3.14 x 20 = 1256( cm?)
(BYlol)= 314 x 2 + 1256 = 1884( cm?)




